- Al ®
M A TR ESEEFRX T H A GIHR..DO &5 KGBAL
ROD ENDS FOR HYDRAULIC COMPONENTS GIHR..DO SERIES

TRYE. N 2408 Requiring maintenance,with female thread

G,
B
did| —di — : ° :
7t/KHousing | & Inner ring 41 Outer ring
¥ T4 Carbon steel | 47 #Bearing steel 7% $Bearing steel
] L HAbHEHeat treated:HRC58-64 | #44b ¥ Heat treated:HRC54-60
: Wit Phosphating Wit Phosphating
\
ds EE452 1 Sliding contact surfaces: £M/4K Steel/Steel
dy
#1-5- Part No. JL5) Dimensions mm_ | #fifLoad ratings =
kN =
Weight

HIRLL TEREL
Right hand Left hand

d3 h L d d d a fjjﬁﬁ ﬁ%ﬁﬁ kg
6H min mn | [ [® |7 |™ |~ |Dynamic| Static

GIHR20DO | GIHL20DO |20 |[M16x1.5 |25 |17 |16 (19 |56 |25 |50 |80 |46 |24.2 |29
GIHR25D0 | GIHL25DO0 |25 |[M16x1.5 |25 |17 |20 |23 (56 (28 |50 |80 |46 [29.3 |35.5
GIHR30DO | GIHL30DO (30 |M22x1.5 |32 |23 (22 |28 |64 (30 |60 |94 |50 |34.2 |40.7
GIHR35D0 | GIHL35D0 (35 |M28x1.5 (40 |29 (25 |30 |78 (38 (70 |112 |66 [39.8 |47
GIHR40DO | GIHL40DO (40 |M35x1.5 (49 |36 |28 |35 |94 |45 (85 |135 |76 |45 |53
GIHR50D0 | GIHL50DO |50 |[M45x1.5 |61 |46 |35 (40 (116 [55 |105 |168 |90 |55.9 |66
GIHR60DO | GIHL60DO |60 |[M58x1.5 |75 |59 |44 |50 130 |65 130 |200 |120 |66.8 |80
GIHR70D0 | GIHL70DO |70 |[M65x1.5 |86 |66 |49 |55 (154 |75 150 |232 |130 |77.9 |92
GIHR80DO | GIHL8ODO (80 |M80x2.0 |105(81 |55 |60 |176 |80 [170 |265 |160 |89.4 |105
GIHR90DO | GIHL90DO (90 |[M100x2.0 |124 (101 |60 |65 206 |90 (210 |323 |180 [98.1 |115
GIHR100DO | GIHL100DO |100 {M110x2.0 (138 [111 |70 |70 |231 [105 |235 |360 |200 |[109.5|130
GIHR110DO0 | GIHL110DO |110 [M120x3.0 | 152|126 |70 |80 (266 |[115 [265 [407.5|220 |121.2|140
GIHR120DO0 | GIHL120DO |120 |[M130x3.0 172 {135 |85 |90 (340 (140 |310 [490 |257 |135.5/160

30 72 0.43
48 72 0.48
62 106 0.74
80 153 1.2
100 250 2
156 365 3.8
245 400 54
315 540 8.5
400 670 12
490 980 215
610 1120 27.5
655 1700 40.5
950 2900 76

OO | Nl oo | N || N | O

WWW.KGBAL.CN 124



M B Ti%EEBERFF iR X T if& GIHR-K..DO &7
ROD ENDS FOR HYDRAULIC COMPONENTS GIHR-K..DO SERIES
NIBZL

KGBAL'

SHH s 112

BGEIZIAN iy B S 124478 Requiring maintenance,with female thread and locking nuts

did F¢AHousing | F&lInner ring 45Nl Outer ring
T4 Carbon steel | 47 #4Bearing steel 7% $Bearing steel
HbHEHeat treated: HRC58-64 | #4b #2Heat treated:HRC54-60
T4k Phosphating T {t.Phosphating
J #2251 Sliding contact surfaces: #)/5M Steel/Steel
715 Part No JS Dimensions mm | #(loadratings |
kN £
Weight
ARAL | Ry O N O O P A P P PO P PO O v L e L
Right hand Left hand 6H min min ~ | Dynamic | Static
GIHR-K20DO |GIHL-K20DO |20 |M16x15 |25 |17 (16 |19 |56 |25 |50 |80 46 (242 (29 9 30 72 0.43
GIHR-K25D0 |GIHL-K25D0 |25 |M16x15 |25 |17 (20 |23 |5 |28 |50 |80 46 [29.3 (355 |7 48 72 0.48
GIHR-K30D0 |GIHL-K30DO |30 |M22x15 |32 |23 |22 |28 |64 |30 |60 (94 50 [34.2 [40.7 |6 62 106 0.74
GIHR-K35D0 |GIHL-K35D0 |35 |M28x15 |40 |29 (25 |30 |78 (38 |70 |112 |66 |39.8 |47 6 80 153 1.2
GIHR-K40D0 |GIHL-K40DO |40 |M35x1.5 |49 |36 (28 |35 |94 (45 |85 |135 |76 |45 53 7 100 250 2
GIHR-K50D0 | GIHL-K50D0 |50 |M45x15 |61 |46 (35 |40 |116 (55 |105 |168 |90 |55.9 |66 6 |[156 365 3.8
GIHR-K60D0 |GIHL-K60DO |60 |M58x15 |75 |59 (44 |50 130 (65 |130 |200 |120 |66.8 |80 6 |245 400 54
GIHR-K70D0 |GIHL-K70DO |70 |M65x1.5 |86 |66 (49 |55 |154 (75 |150 |232 |130 |77.9 |92 6 [315 540 8.5
GIHR-K80DO |GIHL-K80DO |80 |M80x2.0 |105 |81 (55 |60 |176 |80 |170 |265 |160 |89.4 |105 |6 400 670 12
GIHR-K90 DO | GIHL-K90DO |90 |M100x2.0|124 |101 {60 |65 |206 (90 |210 |323 |180 |98.1 |115 |5 [490 980 21.5
GIHR-K 100 DO | GIHL-K 100 DO | 100 |M110x2.0|138 |111 {70 |70 |231 [105 |235 |360 |200 |109.5|130 |7 610 1120 215
GIHR-K 110 DO | GIHL-K 110 DO | 110 |M120x3.0 | 152 |125 [70 |80 |266 |[115 |265 |407.5|220 |121.2|140 |6 655 1700 40.5
GIHR-K 120 DO | GIHL-K 120 DO | 120 |M130x3.0 | 172 |135 (85 |90 |340 [140 |310 |490 |257 |1355|160 |6 950 2900 76
WWW.KGBAL.CN 125




M B Ti&EEBERFF iR X T A GIHN-K..LO 27
ROD ENDS FOR HYDRAULIC COMPONENTS GIHN-K..LO SERIES
T

KGBAL'

SHH e 112

IR, At A 2 Requiring maintenance,with female thread and locking nuts

72 {AHousing

P4 flInner ring

4Nl Outer ring

T4 Carbon steel

477 £ Bearing steel

Ik #Heat treated:HRC58-64

7% $Bearing steel

AL FHeat treated:HRC54-60

Nifk

T4k Phosphating T {t.Phosphating
d< ©80 JEE % 5ISliding contact surfaces: /4K Steel/Steel
715 Part No. J 5T Dimensions mm | *(loadratings |
kN £
Weight
75 243 Vast: -3 q |% d L | ¢ ld, L hy L & |9 ?ﬁﬁkﬁ ﬁ%'ﬁﬁ kg
Right hand Left hand 6H min min ~ Dynamic | Static
GIHN-K 12 LO* |GIHN-KL 12 LO* |12 M12x1.25(16.5 |17 12 1 32 14 38 54 32 4 10.8 24.5 0.1
GIHN-K16 LO |GIHN-KL16LO |16 M14x1.5 |21 19 16 14 40 18 44 64 40 4 17.6 36.5 0.2
GIHN-K20LO |GIHN-KL20LO |20 M16x1.5 |25 23 20 17 47 22 52 7 47 4 30 48 0.4
GIHN-K25L0 |GIHN-KL25L0 |25 |[M20x1.5 |30 29 25 22 58 27 65 96 54 4 48 78 0.66
GIHN-K 32 L0 |GIHN-KL32L0 (32 M27x2.0 |38 37 32 28 " 32 80 118.5 |66 4 67 114 1.2
GIHN-K 40 LO |GIHN-KL40LO (40 M33x2.0 |47 46 40 G 90 41 97 146 |80 4 100 204 2.1
GIHN-K50 LO |GIHN-KL50 L0 |50 M42x2.0 |58 57 50 4 109 |50 120 [179.5 |96 4 156 310 4.4
GIHN-K 63 LO |GIHN-KL 63 L0 |63 M48x2.0 |70 64 63 58 136 |62 140 |213 (114 |4 255 430 7.6
GIHN-K70LO |GIHN-KL70L0 |70 M56x2.0 |80 76 70 o7 155 |70 160 [245 135 |4 315 540 9.5
GIHN-K80LO |GIHN-KL80LO |80 |M64x3.0 |90 86 80 67 170 |78 180 2705 (148 |4 400 695 14.5
GIHN-K90LO |GIHN-KL90LO |90 M72x3.0 [100 |91 90 72 185 |85 195 296 |[160 |4 490 750 17
GIHN-K 100 LO |GIHN-KL100LO (100 |[M80x3.0 (110 |96 100 |85 210 |98 210|322 (178 |4 610 1060 28
GIHN-K 110 LO |GIHN-KL110LO {110 |M90x3.0 (125 |106 (110 |88 235 |105 235 364 |190 |4 655 1200 32
GIHN-K 125 LO |GIHN-KL125L0 {125 |M100x3.0(135 |113 [125 |[103 [265 |120 [260 (405 |200 |4 950 1430 43
GIHN-K 160 LO |GIHN-KL 160 LO {160 |M125%x4.0(165 |126 |[160 130 [326 |150 [310 [488 |250 |4 1370 2200 82.5

——i SRR
—Relubrication not available for sizes marked "*".

WWW.KGBAL.CN

126




- Al ®
M A TikERBHRIFFIRX T A GIHO-K..DO R KGBAL
ROD ENDS FOR HYDRAULIC COMPONENTS GIHO-K..DO SERIES

TRYER. NIBLL. P I AR Requiring maintenance, with female thread and locking nuts

B
dy ‘.&‘
O). L=
L U /Ly F¢AHousing | F&lInner ring 4Nl Outer ring
hy o T4 Carbon steel | 477 #Bearing steel 7% $Bearing steel
b FE Heat treated:HRCH8-64 | #41ib 2 Heat treated:HRC54-60
T4k Phosphating %L Phosphating
ds JE % 7ISliding contact surfaces: /4K Steel/Steel
715 Part No. JXF Dimensions mm | #fLoad ratings =g
kN =
Weight
o o I S O I O [P R P U P R O A U PO el A
Right hand Left hand 6H “ | min VT fmin |70 [T 2 |~ | Dynamic| Static

GIHO-K 12 DO* | GIHO-KL 12 DO* |12 [M10x1.25|17 |15 |10 |8 35 |16 (42 |59.5 |35 (15 13 (11 |10.8 17 012
GIHO-K16 DO | GIHO-KL16DO |16 [M12x1.25|21 (17 (14 [11 |45 |20 |48 |70.5 (45 [20.7 |13 |10 |21.1 28.5 0.22
GIHO-K20 DO | GIHO-KL20DO |20 |M14x15 (25 (19 |16 |13 |55 |26 |58 855 |55 |242 |17 30 42.5 0.43
GIHO-K25D0 |GIHO-KL25D0 |25 |[M16x1.5 (30 (23 |20 |17 (65 |30 |68 [100.5(62 |29.3 |17 48 67 0.67
GIHO-K30 DO | GIHO-KL30DO |30 |M20x1.5 {36 |29 |22 |19 |80 |35 |85 [126 |77 |342 |19 62 108 1.25
GIHO-K 40 D0 | GIHO-KL40DO |40 [M27x2.0 |45 (37 |28 (23 |100 |45 |105 |1585 (90 (45 23 100 156 2.16
GIHO-K50 D0 | GIHO-KL50DO |50 [M33x2.0 |55 (46 |35 |30 |120 |58 |130 |190 (105 [55.9 |30 156 245 39

GIHO-K60 DO | GIHO-KL60DO |60 |M42x2.0 (68 |57 |44 |38 (160 |68 |150 [230 [134 |66.8 |38 245 380 715
GIHO-K 80 D0 | GIHO-KL80DO |80 [M48x2.0 |90 |64 |55 |47 2056 |82 |185 |287.5/156 |89.4 |47 400 585 15

GIHO-K 100 DO | GIHO-KL 100 DO | 100{ M64x3.0 | 110 (86 |70 |55 |240 |116 |240 |360 (190 [109.5 |55 610 865 27.3

~N|lo|lo|lo|lN|[oo| N[ ©

——i R SR BB .
—Relubrication not available for sizes marked "*".

WWW.KGBAL.CN 127



B R SRR iS 2  ER GK..SK R KGBAL'’
ROD ENDS FOR HYDRAULIC COMPONENTS GK..SK SERIES

TRYER. NIBLL. PRI Requiring maintenance, with female thread and locking nuts

O
B
«
d J— R
L, 7{/Housing | [&lInner ring 4Nl Outer ring
7 —T T4 Carbon steel | 477 #Bearing steel 7% $Bearing steel
Ls HAbFEHeat treated:HRC58-64 | #Ab ¥ Heat treated:HRC54-60
T4k Phosphating %L Phosphating
d
dz J #2251 Sliding contact surfaces: #)/5M Steel/Steel
7115 Part No. JXF Dimensions mm | #fLoad ratings =g
kN =
Weight
TRt sk 328 d c B d d h d c L Ly d Ly d; a | BhEder | R kg
Righthand | Lefthand ! 2T T MR 1 min [T |min | 6H ~ | Dynamic | Static

GK25SK |GKL25SK |25 |23 |20 56 (293 |65 |48 |21 95 26 |28 |30 |M18x20
GK30SK |GKL30SK (30 (28 |22 64 (342 |75 |56 |26 109 [30 (34 |35 |M24x20
GK35SK |GKL35SK |35 (30 (25 78 397 {90 (70 |28 |132 |40 |44 |45 |[M30x2.0
GK40SK |GKL40SK [40 (35 |28 94 |45 |105 |78 |33 155 (45 [55 |65 |M39x3.0
GK50SK |GKLS0SK |50 (40 |35 116 (56 (135 (88 |36 |198 |55 |70 |75 |[MbB0Ox3.0
GK60SK |GKL60SK [60 (50 |44 130 [66.8 (170 [118 |46 |240 |65 |87 |95 [M64x3.0
GK70SK |GKL70S8K |70 |55 |49 154 |77.8 {195 |138 |51 278 |75 [105 |110 |M80x3.0
GK80SK |GKL80SK (80 (60 |55 176 |89.4 (210 |168 [55 |305 [80 |125 [120 |M90x3.0
GK90SK |GKL90SK |90 (65 |60 206 |98.1 {250 |180 |60 |363 |90 [150 |140 [M100x3.0
GK100SK |GKL100SK [100 (70 |70 230 |109.5(275 |188 |65 |400 |105 (170 |150 [M110x4.0
GK110SK |GKL110SK [110 (80 |70 264 (12121300 |210 |74 |442 [115 [180 |160 |M120x4.0
GK120SK |GKL120SK [120 (90 |85 340 |135.5(360 |240 |84 |540 |140 (210 |190 [M150%4.0
GK140SK |GKL140SK [140 (110 |90 380 [155.8]|420 |256 |[1056 |620 [185 [230 |210 |M160x4.0
GK160SK |GKL160SK |160 (110 |105 |480 |[170.2|460 (290 |105 [710 |200 [260 |240 [M180x4.0

48 76 0.7
62 112 1
80 180 1.3
100 295 24
156 445 41
245 530 6.5
315 720 9.5
400 890 16
490 1300 28
610 1490 34
650 2050 44
950 2970 75
1080|3350 160
1370|4300 185

| vN|jlo|lo|vN|lo|lo|lo|Nw|[N|N|~| |

WWW.KGBAL.CN 128



B R E S A 3 R GK..DO R 7 KGBAL'’
ROD ENDS FOR HYDRAULIC COMPONENTS GK..DO SERIES

FrEd. JE42% Requiring maintenance, for welding

d; ] L |l 7{/Housing | &Inner ring 5Nl Outer ring
%a/ h A4 Moy steel | 477 #Bearing steel 7% $Bearing steel
HbHHHeat treated:HRC58-64 | #4b #Heat treated:HRC54-60
‘ L 6 ‘ B4 Phosphating (L, Phosphating
b15<d< b 17 JE % 7ISliding contact surfaces: /4K Steel/Steel
JS1 Dimensions mm | #fLoad ratings .
] N &
Part No. Weight
R I T I (S S (PSP P P S O Sl LS L
min A= Dynamic | Static
GK 10 DO* 10 3 15 9 7 29 15 1.5 24 385 |16 13.2 (19 12 8.15 15.6 0.041
GK 12 DO* 12 3 175 |10 8 34 18 1.5 27 44 18 15 22 11 10.8 21.6 0.066
GK15D0 15 4 21 12 10 40 20 2 31 51 22 18.4 |26 8 17 32 0.12
GK17 DO 17 4 24 14 1 46 23 2 85 58 25 20.7 |30 10 21.2 40 0.19
GK 20 DO 20 4 2715 |16 13 53 215 |2 38 645 |29 242 |35 9 30 54 0.23
GK 25 DO 25 4 335 |20 17 64 33 3 45 7 355 [29.3 (42 7 48 72 0.43
GK 30 DO 30 4 40 22 19 73 375 |3 51 87.5 |40.7 |342 |47 6 62 95 0.64
GK 35 DO 35 4 47 25 21 82 43 3 61 102 |47 398 |55 6 80 125 0.96
GK 40 DO 40 4 52 28 23 92 48 4 69 115 |53 45 62 7 100 156 1.3
GK 45 D0 45 6 58 32 27 102 |52 4 7 128 |60 50.8 (68 7 127 208 1.8
GK 50 DO 50 6 62 35 30 112 |59 4 88 144 |66 55.9 |75 6 156 250 2.5
GK 60 DO 60 6 70 44 38 135 (725 |4 100 |[167.5 |80 66.8 (90 6 245 390 3.9
GK70 DO 70 6 80 49 42 160 |86 5 15 (195 |92 77.9 105 6 315 510 6.6
GK 80 DO 80 6 95 55 47 180 (98 5 141|231 105 894 |120 6 400 620 8.7

—d< $ 17, BPALEMAL,

—— AR {E2RSTU S5, {520 : GK 50 DO 2RS
—— S BN R W o

—Grease nipple not available for d< ¢ 17.
——Sealed version also available, e.g.GK 50 DO 2RS.
—Relubrication not available for sizes marked "*".

WWW.KGBAL.CN 129



B R S AT i 3 5K GF.DO BT KGBAL'’
ROD ENDS FOR HYDRAULIC COMPONENTS GF..DO SERIES

FrEd. /2% Requiring maintenance, for welding

B d
| |
did| - _ 7¢/KHousing |4 /&lInner ring 5N Outer ring
! oG- J Le A4 iAoy steel| 477 #Bearing steel 7% $Bearing steel
sg/ R h, HbHHHeat treated: HRC58-64 | #1442 Heat treated:HRC54-60
4 > 45° - 45° T4 Phosphating 4 Phosphating
‘ J #2251 Sliding contact surfaces: #K/5M Steel/Steel
Ls
S~} Dimensions mm | ZfrLoad ratings -
] N it
Part No. Weight
I (T S P PO S S PO IS VO S =05 L L
= Dynamic | Static
GF15D0 15 12 16 45 53.5 31 22 18.4 26 2 8 17 53 0.22
GF 16 DO 16 14 17.5 48 59 35 25 20.7 30 2 10 212 59 0.29
GF 17 D0 17 14 17.5 48 59 35 25 20.7 30 2 10 212 65 0.29
GF 20 DO 20 16 19 50 63 38 29 24.2 H 2 9 30 67 0.35
GF 25 D0 25 20 23 55 72.5 45 35.5 29.3 42 2 7 48 69.5 0.53
GF 30 DO 30 22 28 65 83.5 51 40.7 34.2 47 2 6 62 118 0.87
GF 35 D0 35 25 30 83 1025 |61 47 39.8 55 2 6 80 196 15
GF 40 DO 40 28 85 100 119 69 53 45 62 3 7 100 300 2.4
GF 45 D0 45 32 40 110 132 7 60 50.8 68 3 7 127 380 34
GF 50 DO 50 35 40 123 149.5 88 66 55.9 75 3 6 156 440 4.4
GF 60 DO 60 44 50 140 170 100 80 66.8 90 4 6 245 570 71
GF70 DO 70 49 55 164 197 115 92 779 105 4 6 315 695 10.5
GF 80DO 80 55 60 180 231 141 105 89.4 120 4 6 400 780 15
GF 90 DO 90 60 65 226 263 150 115 98.1 130 4 5 490 1340 233
GF 100 DO 100 70 70 250 295 170 130 109.5 150 4 7 610 1500 31.5
GF 110 DO 110 70 80 295 332.5 185 140 121.2 160 4 6 655 2160 48.5
GF 120 DO 120 85 90 360 390 210 160 135.5 180 4 6 950 3250 79

——th AT E2RS BS54, 511: GF 70 DO 2RS.
——Sealed version also available, e.g.GF 70 DO 2RS.

WWW.KGBAL.CN 130



B R AR AT i 2 R GR.LO BT KGBAL'’
ROD ENDS FOR HYDRAULIC COMPONENTS GF..LLO SERIES

FHEd. /5% Requiring maintenance, for welding

B
d, C,
| @
1 F¢AHousing | FEInner ring 4Nl Outer ring
L N \ di -1 S A4 iAoy steel| 475 #Bearing steel 7% $Bearing steel
h i } HbHHHeat treated:HRC58-64 | #4b #Heat treated:HRC54-60
2 Xa(o | T4 Phosphating B4t Phosphating
f [ % 7ISliding contact surfaces: /4K Steel/Steel
R
JX5} Dimensions mm |  HfiLoad ratings -
2 N &
Part No. Weight
d B G t, L h, t < A | WA ke
~ Dynamic Static
GF16 LO 16 16 17.5 48 59 35 20 4 17 40 0.3
GF20 L0 20 20 19 50 63 38 25 4 30 74 0.36
GF25L0 25 25 23 55 72.5 45 30.5 4 48 95 0.54
GF 32 L0 32 32 27 70 100 65 38 4 62.5 168 112
GF40L0 40 40 35 100 119 69 46 4 100 268 2.5
GF50L0 50 50 40 123 149.5 88 57 4 156 362 4.6
GF 63 L0 63 63 50 145 179.5 107 71.5 4 248 570 9.3
GF70L0 70 70 59 164 197 115 79 4 315 800 11.25
GF80L0 80 80 60 180 231 141 91 4 400 874 15.75
GF90 L0 90 90 65 226 263 150 99 4 490 1045 24
GF100L0 100 100 70 250 295 170 113 4 610 1330 33.95
GF110 L0 110 110 80 295 3325 185 124 4 655 1490 49

——t I HR{iE2RS AL 25, 4140 GF 70 HO 2RS.
——Sealed version also available, e.g.GF 70 HO 2RS.

WWW.KGBAL.CN 131



B R AR AT i 2 3 AR TS, NE. 251 KGBAL'’
ROD ENDS FOR HYDRAULIC COMPONENTS TS..NF.. SERIES

FHEd. JE4% Requiring maintenance, for welding

Cy

d, B

| 1

4
| F¢AHousing | fEInner ring 4Nl Outer ring

e sg A4 iAoy steel| 475 #Bearing steel 7% $Bearing steel
a HbHHHeat treated:HRC58-64 | #4b #Heat treated:HRC54-60
W Tt Phosphating T {t.Phosphating
I‘-' = JE422 I Sliding contact surfaces: A4/%K Steel/Steel
JST Dimensions mm
5 [0V 5
Part No. Bearings
d B C| |.1 dz [L] E F a

TS 20 NF 35 20 16 19 48.5 50 73.5 35 45 9 GE 20 ES
TS 20 NF 40 20 16 19 48.5 50 73.5 40 50 9 GE 20 ES
TS 20 NF 45 20 16 19 48.5 50 73.5 45 55 9 GE 20 ES
TS 25 NF 50 25 20 23 57.5 55 85 50 60 7 GE 25 ES
TS 25 NF 55 25 20 23 57.5 55 85 55 65 7 GE 25 ES
TS 30 NF 60 30 22 28 63.5 65 96 60 70 6 GE 30 ES
TS 30 NF 63 30 22 28 63.5 65 96 63 73 6 GE 30 ES
TS 30 NF 65 30 22 28 63.5 65 96 65 75 6 GE 30 ES
TS 35 NF 70 35 25 30 73.5 83 115 70 80 6 GE 35 ES
TS 35 NF 75 35 25 30 73.5 83 115 75 90 6 GE 35 ES
TS 35 NF 80 35 25 30 73.5 83 115 80 95 6 GE 35 ES
TS 35 NF 80-1 35 25 30 73.5 83 115 80 90 6 GE 35 ES
TS 40 NF 80 40 28 35 84.5 100 134.5 80 95 7 GE 40 ES
TS 40 NF 85 40 28 35 84.5 100 134.5 85 100 7 GE 40 ES
TS 40 NF 90 40 28 35 84.5 100 134.5 90 105 7 GE 40 ES
TS 40 NF 100 40 28 85 84.5 100 134.5 100 115 7 GE 40 ES
TS 50 NF 110 50 35 40 106.5 123 168 110 130 6 GE 50 ES
TS 50 NF 120 50 35 40 106.5 123 168 120 140 6 GE 50 ES
TS 50 NF 125 50 35 40 106.5 123 168 125 145 6 GE 50 ES

WWW.KGBAL.CN 132



M 5554 GLP. &7
PNEUMATIC CYLINDER ACCESSORIES GLP. SERIES

KGBAL'

B IR ER
— —+d
5¢/4Housing
LE
A4 4MAlloy steel
q]
! M
F
J<_SJ* Dimensions mm =
s ! o
Part No. ; v ek': :
3
CM d h CL F 6H LE ER B IR S 6H
GLP 10 12 10 32 24 19 M10x1.25 | 13 12 6 10 4 M5 0.1
GLP 12 16 12 36 32 21 M12x1.25 | 19 17 8 14 55 M5 0.18
GLP 14 20 14 38 40 21 M14x15 |19 17 10 14 75 M5 0.23
GLP 16 30 20 54 60 32 M16x1.5 |32 29 15 24 11 M6 0.9
GLP 20 30 20 60 60 32 M20x1.5 |32 29 15 24 1 M6 0.91
GLP 27 40 28 75 80 40 M27x2.0 |39 34 20 29 17 M8 1.92
GLP 33 50 36 99 100 55 M33x2.0 |54 50 25 44 22 M8 492
GLP 42 60 45 113 120 56 M42x2.0 |57 53 30 49 27 M8 6.53
GLP 48 70 56 126 140 75 M48x2.0 |63 59 35 38 31 M12 10.11
GLP 64 80 70 168 160 95 M64x3.0 |83 78 40 45 37 M12 19.2
GLP 80 80 70 168 160 95 M80x3.0 |83 78 40 45 37 M12 18.42

WWW.KGBAL.CN 136



M A TRENEL os1.. &5
TRUNNION FOR HYDRAULIC CYLINDERS 08/1.. SERIES

KGBAL'

D
B D1 D2 D1
|
\
‘ 5t/AHousing
N F T — — C|F L4 Aoy steel
»J” Dimensions mm =
iksy o Ll
Part No. Wi'ght
A B o D Dy D, OF ; .
08/1164 50 30 20 110 20 70 65 30 0.52
08/1165 60 E5) 25 130 25 80 75 B9 0.79
08/1166 70 45 30 160 30 100 90 45 1.57
08/1167 80 50 35 180 35 110 100 50 2.03
08/1168 92 55 40 195 40 115 115 55 2.6
08/1169 95 99) 40 195 40 115 115 99) 2.4
08/1170 105 60 45 215 45 125 125 60 3
08/1171 115 70 50 245 50 145 145 70 5.3
08/1172 140 80 60 290 60 170 170 80 7.7

WWW.KGBAL.CN

11374




W SATEH . 5 KGBAL’

PNEUMATIC CYLINDER ACCESSORIES IF.. SERIES

CL
CM

= R>_T_\ B>ﬁ\

AN \ /. \
LE - - 7&K Housing
‘ 1 T \ CE \ CE T4K Carbon steel
,@ @LF = ﬁ | AT
KK _ B B
IF10-1F32 IF40-IF80
— JX T Dimensions mm ﬁﬁf E_%
Part No. Load Iz;tmgs th‘.(lght
IF10 10 24 10 37 18 M10x1.25 [19 20 1 5 0.1
IF12 12 28 12 38 18 M12x1.25 |20 25 16 8 0.16
IF16 16 36 16 44 22 M14x1.5 |22 30 20 12.5 0.27
IF 20 20 45 20 52 27 M16x1.5 |25 40 25 20 0.53
IF 25 25 56 25 65 34 M20x1.5 |31 50 32 32 112
IF 32 32 70 32 80 42 M27 %2 38 65 40 50 2.18
IF 40 40 90 40 97 52 M33x2 45 80 50 80 4.4
IF 50 50 110 50 120 64 M42x2 56 100 63 125 7.6
IF 63 63 140 63 140 75 M48x 2 65 120 " 200 17.7
IF 80 80 170 80 180 94 M64 %3 86 150 90 320 30.6

WWW.KGBAL.CN 138



W SATE PR 25 KGBAL’

PNEUMATIC CYLINDER ACCESSORIES FF.. SERIES

-2
|
C
T )
7 7 L L 5t/AHousing
|
‘ : Tl g Carbon steel
[
_F_
B
JX ST Dimensions mm
5
Part No.
oH A B d L Ly N C
FF 1700 M16x1.5 16 35 16.20 55 39 24 16
FF 1702 M20x1.5 20 40 20.25 65 45 30 20
FF 1704 M24x2.0 25 50 25.25 70 50 30 20
FF 1706 M30x2.0 30 60 30.25 90 65 35 25
FF 1708 M33x2.0 35 70 35.25 105 75 40 30

WWW.KGBAL.CN 139



B SATE 4 FS.. R KGBAL’

PNEUMATIC CYLINDER ACCESSORIES FS.. SERIES

d
‘ |
] ] |
C
9 7N (L) 5t/AHousing
| Ly I ﬂ» ] T 4fCarbon steel
// |
B B
JX ST Dimensions mm
piiees
Part No.
A B d L Ly N C
FS 1710 16 35 16.2 50 34 24 16
FS 1712 20 40 20.25 60 40 30 20
FS1714 25 50 25.25 65 45 30 20
FS 1716 30 60 30.25 75 50 35 25
FS 1720 35 70 35.25 85 55 40 30

WWW.KGBAL.CN 140



M B F R E R AT iR £ TR K., 51 KGBAL’
ROD ENDS FOR HYDRAULIC COMPONENTS KJ.. SERIES

Bl

B
- ER
EN
G

¢ {/xHousing 7% [&lInner ring 41 Outer ring
h TEACarbon steel & Bearing steel HABrass
o | = o ¢ 8 ectrofusion/Spray-paint | #Ab HHeat treated:HRC58-62
H e izl — BL|
Bh FN ‘ 1 di | —
BO gﬁ %5 Sliding contact surfaces: #)/PTFE Steel/PTFE
JS1 Dimensions mm =
I -
Part No. Weight
d h B Bl ER d F Q P BG BH BL BN BO H kg
KJ 10 10 32 14 21 15 20 3 6.6 1 18 31 10 38 51 8.5 0.18
KJ 12 12 36 16 24 18 20 3 6.6 11 22 35 10 41 54 8.5 0.27
KJ 16 16 45 21 33 20 20 3 9 15 30 45 12 50 65 10.5 0.46
KJ 16-1 16 50 21 37 23 20 3 9 15 35 50 12 52 67 10.5 0.55
KJ 20 20 63 25 47 27 20 3 11 18 40 60 14 66 86 11.5 0.97
KJ 20-1 20 71 25 88 30 20 3 11 18 50 70 15 76 96 12.5 1.33
KJ 30 30 90 37 70 40 20 3 135 |20 60 90 20 94 124 17 3

WWW.KGBAL.CN 141



B T E AR AT i 3 B R K., B3 KGBAL'
ROD ENDS FOR HYDRAULIC COMPONENTS KJH.. SERIES

L
\’Aﬂ P
L ‘ Il
7 — A 7
HO N
_,%,_ R_| 724 Housing 11 [&Inner ring 41 Outer ring
‘ﬁ\ d] B iCarbon steel {1 $71Bearing steel 4 fiiBrass
L0 WA Electrofusion/Spray-paint | #A/2t #1Heat treated:HRC58-62
— |

1
lo =]l 1]

JE4% R Sliding contact surfaces: H4/PTFE Steel/PTFE
h
JXS1 Dimensions mm =
it -
Part No. Weight
d h B © ER A L F P G N M E H R kg
KJH 10 10 22 14 105 |15 325 |45 30 5 10 55 10.5 6.6 / / 0.15
KJH 12 12 25 16 12 18 38 55 B9 5 10 55 11 6.6 / / 0.26
KJH 16 16 27 21 15 20 465 |65 40 5 10 6.5 15 9 51 19 0.36
KJH 16-1 16 32 21 15 23 56.5 |75 45 5 12 6.5 15 9 / / 0.6
KJH 20 20 36 25 18 27 72 95 45 5 14 10 18 1 70 24 112
KJH 20-1 20 41 25 18 30 89 115 59 5 16 10 18 1 / / 1.79
KJH 30 30 50 37 25 40 110 140 60 7 20 10 20 13.5 / / 35

WWW.KGBAL.CN 142



M A Tl EHURA 6. 23 KGBAL’
CLEVISES FOR HYDRAULIC CYLINDERS G.. SERIES

R
O ]
\ »
I L
! 5t/4Housing
g fif¢ 4 Carbon steel
T — /\ BEEEZinC plated
120%2bs)—  —— L T 1200
N =il - 4\ /
1X45° |
orR1max
JX 5} Dimensions mm =
#l5 -
Part No. Weight
519 EU.E i % g113 hz 2; S;S ZI].Z It-l:ﬁ |.z ::3 ZU.E kg
G4x8 4 8 8 8 4 41038 Imax07 |8 05 21 16+03 |6 05 0.005
G4x16 4 16 8 8 4 41833 |m4x07 |8 05 29 24+03 |6 05 0.007
G5x10 5 10 10 10 5 51338 [M5%08 |9 05 26 20+03 [75 |05 0.009
G5x20 5 20 10 10 5 5133 IM5%08 |9 05 36 30+03 |75 |05 0.013
G6x12 |6 12 12 12 6 61933 |M6x1.0 |10 0.5 31 24+03 |9 0.5 0.015
G 6x24 6 24 12 12 6 61933 |M6x1.0 |10 05 43 3604 (9 05 0.021
G8x16 8 16 16 16 8 8133 Im8x1.25 |14 05 42 32404 |12 05 0.037
G8x16FG |8 16 16 16 8 81833 |m8x1.0 |14 05 42 32+04 |12 05 0.037
G 8x32 8 32 16 16 8 8133 Im8x1.25 |14 05 58 48+04 |12 05 0.054
G8x32FG |8 32 16 16 8 81833 |m8x1.0 |14 05 58 48+04 |12 0.5 0.054
G10x20 |10 20 20 20 10 101333 Im10x15 |18 05 52 40+04 |15 05 0.074
G10x20FG |10 20 20 20 10 101333 I1mM10%x1.25 |18 05 52 40+04 |15 0.5 0.074
G10x40 (10 40 20 20 10 105379 Im10x15 |18 05 72 60+0.4 |15 0.5 0.116
G10x40FG |10 40 20 20 10 105379 Im10%x1.25 |18 0.5 72 60+04 |15 0.5 0.116
G12x24 |12 2 24 24 12 1248370 IM12x1.75 |20 05 62 4804 |18 05 0.121
G12x24 FG |12 24 24 24 12 124870 IM12x1.25 |20 05 62 4804 |18 05 0.121
G12x48 |12 48 24 24 12 1248370 IM12x1.75 |20 05 86 72404 |18 05 0.175
G12x48 FG |12 48 24 24 12 124870 I M12x1.25 |20 05 86 72404 |18 05 0.175
G14x28 |14 28 27 27 14 1418370 IM14x2.0 |24 1.0 72 56+0.4 |23 1 0.178
G14x28 FG |14 28 27 27 14 1418370 \M1ax15 |24 1.0 72 5604 |23 1 0.178
G14x56 |14 56 27 27 14 145070 IM14x20 |24 10 101 85+04 |23 1 0.258
G14x56 FG | 14 56 2 2 14 145379 IM14x15 |24 1.0 101 85+0.4 |23 1 0.258
G16x32 |16 32 32 32 16 165379 IM16%x20 |26 1.0 83 64404 |24 1 0.282
G16x32FG |16 32 32 32 16 165379 IM16x15 |26 1.0 83 6404 |24 1 0.282
G16x64 (16 64 32 32 16 165379 IM16%2.0 |26 1.0 15 |96+04 |24 1 0.411
G16x64 FG | 16 64 32 32 16 165379 IM16x15 |26 1.0 15 |96+04 |24 1 0.411
G18x36 |18 36 36 36 18 181379 Im18x25 |30 1.0 94 72404 |27 15 0.39
G18x36 FG | 18 36 36 36 18 181379 Im18x15 |30 1.0 94 7204 |27 15 0.39
G20x40 |20 40 40 40 20 205379 Im20%x25 |34 1.0 105  |80=0.4 |30 15 0.55
G 20x40 FG |20 40 40 40 20 201379 ImM20x15 |34 1.0 105  [80+04 |30 15 0.55
G20x80 |20 80 40 40 20 205319 |m20x25 |34 1.0 145 |120+0.4 |30 15 08
G 20x80 FG |20 80 40 40 20 201379 I1mM20x15 |34 1.0 145 |120+0.4 |30 15 0.8
G25x50 |25 50 50 50 25 2510370 |M24x30 |42 15 132 100+0.4 |36 15 11

WWW.KGBAL.CN 143



M A Tl E VRS 6. 23 KGBAL’
CLEVISES FOR HYDRAULIC CYLINDERS G.. SERIES

L
1O
\ »
I Lz
1 5¢/AHousing
g fif¢4NCarbon steel
T — /\ BEEEZinC plated
120°a3bs)—  —— LT dd 1200
N = [4\ /
1X45° |
orR1max
JX ) Dimensions mm =
W -
Part No. Weight
ﬂ; 30.5 “il % g113 hz 2:1 3:3 ZU.Z :l]]E |.z 1.33 iﬂ.ﬁ kg
G 25x50 FG |25 50 50 50 25 25070 IM24%2.0 |42 15 132 |100+0.4 |36 15 11
G28x56 |28 56 55 55 28 28370 [M27x30 |48 15 148 112=0.4 |40 2 15
G 2856 FG | 28 56 55 55 28 281310 [M27x20 |48 15 148 112+0.4 |40 2 15
G 30x54 FG |30 54 55 55 30 301379 [m27x20 |48 15 148 110+0.4 |40 2 1.44
G30x60 |30 60 60 60 30 30372 [M30%35 |52 15 160 12004 |42 2 1.97
G 30x60 FG | 30 60 60 60 30 30372 [M30%20 |52 15 160 120404 |42 2 1.97
G 35%54 FG |35 54 70 70 35 35370 [M36%2.0 |60 20 188 144204 |54 3 293
G35x72 |35 72 70 70 35 35370 [M36%4.0 |60 20 188 144404 |54 3 2.93
G35x72FG |35 72 70 70 35 354879 1M36%2.0 |60 2.0 188 |144+0.4 |54 3 2.93
G36x72 |35 72 70 70 36 361370 [M36x4.0 |60 2.0 188 |144+0.4 |54 3 2.93
G36x72FG |35 72 70 70 36 36370 [ M36%20 |60 2.0 188 |144+0.4 |54 3 2.93
G 40x84 FG |40 84 85 85 40 40370 |M42x2.0 |70 3.0 232 |168+0.4 |635 |5 5.64
G42x84 |42 84 85 85 42 427070 | md2x45 |70 3.0 232 |168=0.4 |635 |5 5.34
G 42x84 FG |42 84 85 85 42 427070 Im42x20 |70 3.0 232 [168+04 |635 |5 5.34
G50x96 |50 9 9 96 50 502379 |M48x5.0 |82 30 265 192404 |73 5 7.86
G 50%96 FG |50 9 9 96 50 502379 |M48x2.0 |82 30 265 192404 |73 5 7.86

WWW.KGBAL.CN 144



	科锦 中文样本前页.pdf
	42-科锦 中文样本 内页.pdf
	87-科锦 中文样本 内页2.pdf
	136-科锦 中文样本 内页3.pdf

